
������2�
�����	
��
��������������������

 

2.1 �������������������
����������������
���� ���

�

� ����������	
��	
���
����( Time Series Data) 
���	�

������	
���
����
��
����	�
�
������
����
��	����������
 ��	���	
��!��
�������"
�
���
�����
���#��
��$��
��
%
����
$��
��
&�
'(�	����%#�)*+!��!,�-�%���"
�
�$��
.
�+�
!���/��0/����(����

����"*� R2

1. $���1���+(Mean) $�!���
��	�����#���+
"# : 

 

!��
�$�����
���%��$�������  t ��
�
�+� �$�2 �
��	�������!��	
���
����
��

�%
�)
�
��
&�
'(��
�%��
"
�������$��
��
&�
'(!��%!�������.�������%#��.��	���+�����#3
$��
��
&�
'(!��"
�%!�����  

(spurious) $ �
�+�
�	�$ ���� 
��� (stationary) ��
������+
�
��#�	���2�����(!�$���/����("*��
*��
�� 

��)( txE  

2. $��
%#�#��
(Variance) $�!���
��	�����#���+
"#� :  2)( ��txVar  

3. $��
%#�#��
���
(Covariance) �	���	
��!������������
$�!���"
��4�
	+����5�������� 
: ��� ���� �� ))((),( 11 tttt xxExxCov  

�������"
��#3
��
$ �
�+�
*�������������
%�*������	
��
�������"
�
���(Non-stationary) 

��'����!�����.�!��5�����	
��*����������
�������
����.��	�"
�
�����������'����!*�	5+�
���!(Unit 

Root Test) 

 

2������
 �!"��#�
�������������
�$%&'�())' 
��������	
��	
���
����"
�
���  ���	������
���%��"�������  Non-stationary *��+���.�

6������	���	
���	����%#� 74�����!*�	5 unit root �
��
��
���!*�	5"*��2 ��'� 
   1.  ���!*�	5)*+�DF (Dickey-Fuller (DF) test)  

   2.  ���!*�	5)*+ ADF (Augmented Dickey-Fuller (ADF) test)     
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1. �
 �!"���*+�,*&-/03-+56607�,*+8�'09'8�
�

��0�
���� �	����!*�	5 DF $�	 1:0 ��H  ����
��� (1) *��
���� �

��$��
��
&�
'(
�#3
*��
�� 
        ty   =  ttx ��� 		                                                                           (2.1) 

                            tx  tt ex 	�1�  =                                                                     (2.2)                           

)*+!��  tt xy ,   = ���%#���
�
1, �tt xx   =  ��	
��	
���
�����	����%#�	���� � ���� t %�� t-1 

tt e,� t

�� ,

  = $��
$��*�$���	
�������
 (random error) 

     = $��&���
���	�(  
�      =  ��
#����!'�8	���.��
&�
'( (autocorrelation coefficience) 

����

��0�
�	����!*�	5�$�	 

1:0 ��H         ������������	
��
��Unit Root  %��
�$��
"
�
����
11;1|:|1 

�
 ��H       ��	
��"
�
��Unit Root %��
�$��

����

������!*�	5�

��0�
�#3
���!*�	5������%#�!��/4��� � �tx 
��

� unit root .��	"
� 
��
���&������"*����$��  �  ���+	
��5 1:0 ��H  .
�+$��
��� tx  
� unit root .��	 tx �
�
������"
�
��� %�����+	
��5� 1|:|1 
�x  .
�+$��
��� tx "
�
� unit root .��	 tx �
�������
���   

�������#��+5�!�+5$��  t-statistics  !��$ �
��"*���5$���
�����   Dickey-Fuller   74��$��  t-statistics   

!��
�	+����$���
�����  Dickey-Fuller ����
���#9���'�

��0�
"*�  %�*�������%#�!��
 �
�
!*�	5
�������
��� .��	�#3
 integrated of order 0  %!
*��+ )0(~ Ixt   

���!*�	5 unit root *�������������
 ��
���! �"*�	����'�.
4�� 
$�	�.�    11);1( 

�	� 

�                                                     (2.3) 

)*+!��      
   =  &���
���	�( 
��"*�      ttt xx �
 		� �1)1(                                                            (2.4) 

tttt xxx �
 		� �� 11                                                     (2.5) 

                 tttt xxx �
 	�� �� 11                                                             (2.6) 

�

��0�
���!*�	5�	� Dickey-Fuller �.
� $�	 

0:0 �
H   (non-stationary) 

0:1 

H   (stationary) 
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���+	
��5 0:0 �
H  ��"*���� 1��  .
�+$��
��� tx �
� unit root .��	 tx  
�������"
�

��� �
��	������	
��	
���
����  � ���� t 
�$��
��
&�
'(��5��	
��	
���
����  � ���� 1�t  %�����
+	
��5� 0:1 

H ��"*���� 1
�  .
�+$��
��� tx  "
�
�  unit root �.��	 tx  �
�������
��� 

�
��	������	
��	
���
����  � ���� t 
����
��
&�
'(��5��	
��	
���
����  � ����� 1�t  

$��$�!��%��%
�)
�
  *��
��
%��� Dickey-Fuller ��&�������
����*�	+  3 ��#%55!��%��������

�
���!*�	5���
� unit root .��	"
� 74�� 3 �
���*�������"*�%��   

ttt xx �
 	�� �� 11                                                                  (2.7) 

ttt xx �
� 		�� �� 11  

ttt xtx �
�� 			�� �� 11

                                                         (2.8) 

                                                 (2.9) 

 

2. �
 �!"��:!���;��<5=>0%'0?�*&-/03-+56607�,<*+8�'09' 
������������������!*�	5��'��ADF )*+�&��
�5�
����*�	+�
����	�  (autoregressive processes) ����
"#�
�
���  74���#3
���%��#:2.��
����!��������!*�	5�	�  Dickey-Fuller %���$�� Durbin-

Watson �� � ����&��
�5�
����*�	+�
����	�����"#
��
  6����!*�	5  ADF ��! ��.�"*�$��  

Durbin-Watson �������� 2 ! ��.�"*��
����.
��������&��
 lagged change ����"#�
�
���!*�	5  

unit root !��*��
���
�	  74��&�
(!���������"#
��
  � �
�
 lagged term (p) ���4�
	+����5$��

�.
���
�	���	
�� .��	��
������� �
�
 lag "#�
���!���"
����*#:2.� autocorrelation *��
�� 

                                               

                                      tti

p

i
tt xxx ��
 	��	�� �

�
� 1

1
1                (2.10)                               

        
tti

p

i
ttt xxxx ��
 	��		�� �

�
�� 1

1
11                                         (2.11)                                

        
tti

p

i
tt xxtx ��
�� 	��			�� �

�
� 1

1
1                                    (2.12)                               

)*+!��            tx  = ��	
�����%#� � ���� t 

         1�tx  = ���	
�����%#�  � ���� t-1 

          t   = $��%
�)
�
 

t�                  
 =  $��$��
$��*�$���	
�������
 

� �
�
�	�  Lagged term (p) !���&��
�����
�
����4�
	+����5$��
�.
���
�	�%����
��
����+  .��	�&��
$��  lag �
�
����
�������
�	�$��$��
$��*�$���	
��"
����*#:2.�  

autocorrelation 
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���!*�	5�

��0�
!�����'�  Dickey-Fuller Test (DF) %����'� Augmented Dickey-Fuller 

Test (ADF) �#3
���!*�	5������%#�!��!*�	5  )( tx 
� unit root .��	"
� 74����
���.�"*����$��  


  ���$�� 
  
�$���!����5 0 %�*�������%#� tx  
��

� unit root 74��!*�	5�

��0�
"*�)*+���
�#��+5�!�+5$������  t-statistic !��$ �
��"*���5$���
�����   Dickey-Fuller 74��$�� t-statistic !��
 �
�
!*�	5�

��0�
�
%������#%55
��
����	�
 �"#�#��+5�!�+5��5�����  Dickey-Fuller � ��*�5
����; �����
���#9���'�

��0�
"*�  %�*�������%#�!��
 �
�!*�	5�#3
  Integrated of order 0

%!
"*�*��+ )0(~ Ixt  

����!�����!*�	5�

��0�
&5���  tx  
� unit root 
��
��	�
�$��� tx�  
�! � differencing 

�
���!�����
���#9���'�

��0�
!�����  tx  
�$��
"
�
����	���	
��"*�  �&��	!��5���  order of 

integration (d) ���	+���
��*�5�* � �0);(~ �ddIxt  

 

2���@��
 �!"��#�
�"�!#
�����������
���� ���

�,A)&%'0=7B'&)%�C09'8�
���������#3
���!*�	5$��
�	*$��	��	���	
��	
���
�����	����%#�$���*;����
����

�$���	
".�!���	*$��	���
.��	"
���
��	����<�+���$��
����	!������
��+�+��%������%#�!��
�/��0���$����
�����$���	
".��
!�/!���*!�/!��.
4��!���	*$��	���
�%
�����
��+����
$��

�$���	
".��	����%#�*�������	����
�����$���	
".�!��"
���
���� �.
*!�/!��!��%
�
	
"*��=
��
�%��+���#3
���!*�	5����$���	
".��	�$��$��
$��*�$���	
�( Error Term) �	��
���
$��
��
&�
'(��.�������%#�!����	����!*�	5�74��
�����	
"�*��
���

- ���%#�	
���
����!����	����!*�	5���	�
�$���
5����	�$��

����	����%#��.��	���
���%#�!����	����!*�	5"
�
�$���
5���*��������%���������#���+
%#���( Differenced) �	����%#��
��� �*�5!���*;�( d) 
�$���
5����	�$��

���%���������"*��������%#�	
���
����*�������
����
�$���	
".�!���	*$��	���
�(Cointegration) 

- %
�������%#�!����	����!*�	5��"
�
�$���
5���$��

���	+���=��
�%�����$��$��

$��*�$���	
� (et

!*�	5���%#��
%55� ��	����
��������#3
� Non-Stationary .��	"
��)*+�����'�� ADF 

Test %��"
���	����$��$�!���%��%
�)
�
�	������%���
 �
�#��
���
����*�	+*��+��'�� ����
�	�
�	+!����*�(Ordinary Least Squares : OLS) 
 ����
!���.��	�(Residuals) ����
����*�	+!��

) �	�$��
��
&�
'(�������
����	����%#�$���*;�
�$���
5����	�$��

�������
��
�������� 
 

��D�E��F��
 �!"���A)&%'0=7B'&)%���!��EG�HI��D�
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#��
��"*��
�!*�	5���
�������
���.��	"
��74�����!*�	5���
!���.��	�( Residuals) 
��
���
*����	"#
�� 

 

 tê�  =    tt ve 	� �1ˆ�                              (2.13) 

)*+!������ te , 1�te       $�	����$���residual �������t %���t-q !��
 �
�.��
����*�	+�.
� 
    � ������$�	����$��&���
���	�(  

    tv ������$�	������	
��	
���
�����	����%#����
  

   

�

��0�
!������
���!*�	5�cointegration 
�*��
�� 
H0 0ˆ �� :                (non - Cointegration) 

   H1 0ˆ 
� :                (cointegration) 

���!*�	5�

��0�
�#��+5�!�+5$��� t - statistics !��$ �
��"*����	�������
�	� �̂  / 

S.E. �̂ "#�#��+5�!�+5��5������ADF test 74�����$���t - statistics 
������$�����,��	��MacKinnon ��
��*�5
�+� �$�2!��� �.
*"����=���#3
���#9���'�

��0�
�����
 �"#�����	���#!��������%#�!��
�
������"
�
����(No-Cointegration) �
�
���*�������
����������
��
"#*��+��
�(Cointegration) 

	+���"��=��
�������
��$���.��	���
!���.��	�( Residuals) �	��
���!���2.13 "
��#3
�white 

noise�����=��������!*�	5�ADF %!
!��������
���!���2.13  �

������v t

te�

 �	��
���!���2.13 
�
�.��
&�
'(����	�
*�5�(Serial Correction) ����=������
���*��
�� 

 

   =     tti

p

i
t veae 	��	 �

�
� 1

1
1 ˆˆ�            (2.14) 

������������  –2< �̂  < 0 �����
������#"*��������
��$���.��	���
!���.��	� (residuals) 
�
������
���(stationary) %���Xt %���Yt

tê

����#3
�CI(1,1) )#�*����������
����(2.13) %�� (2.14) "
�

�&�
(���
��*�( intercept term) �
��	����� ��#3
���
��$���.��	���
!���.��	� (residuals)����
�
����*�	+�(regression equation) 

 

 2���J��
 �!"���K77)7�A)770-'&)%�L)?06�M�,KAL8�
 ���������
��	! ����!*�	5%�����	
��	
���
����!��! ����/4����#3
��	
��	
���
����!��
�
������"
�
����%��"
����*#:2.��
����*�	+"
�%!�������
����*�	+!��"*�
�������
��
"#
*��+��
�)*+
���"����#��5����������*��+<�&��+�+���.
�+$��
������%#�!����	�
�$��
��
&�
'(
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����*��+<�&��+�+���%���
��+����
	��
����		�
	�*��+<�&�%55� ��	��	��	�($	��$��
�
(ECM)�$�	���"����#��5����������*��+<�&�
��+����
��

����.��Xt %�� Yt 

t��

 �#3
��	
��	
���
����
!��
�������"
�
���%��"
����*#:2.��
����*�	+"
�%!�����  �
����*�	+!��"*�
�������
��
"#
*��+��
 )*+
���"����#��5����������*��+<�&�
��+�+��  
��
$�	���%#�!����	�
�$��
��
&�
'(����
*��+<�&��+�+��  %���
��+����
	����
����		�
	�*��+<�&"*��&���1�
��
�.�&�
($��$��

$��*�$���	
*��+<�&
��  	���#3
�������	
&,�����
�
��+����
%����+�+������*��+��
  )*+
������� �$�2�	����%#�	
���
����!��
�������
"#*��+��
$�	  ��������(time path) �	�	
���

�����.���
��"*���5	�!'�&��������5��+��5
		�
	�*��+<�&��+�+��*��
��
�
��	���5�������*��+<�&
��+�+�� ����$���	
".��	�	
���
����	+���
�	+5�����%#�����	��	5�
	���	�
�*�	����
		�
	�*��+<�&(disequilibrium) �
%55� ��	� Error Correction Mechanism &�������+����
 

(short–term dynamics) �	����%#��
��55��"*���5	�!'�&��������5��+��5
		����*��+<�&�
���	+���%55� ��	� Error Correction Model (ECM) �#3
*��
���
�

��    =  
  

tjt

k

i
j

k

i
tt YXe 1

11
111 ���� 	�	�	 �

��
�	 ��           (2.15) 

  t��     =  tjt

k

i
j

k

i
tit YyXu 2

10
112 ��� 	�	�	 �

��
�� ��           (2.16) 

)*+!���� t� , t�      =     Log �	���	
��	
���
������������t 
            1� , t�         =     $��$��
��=��
���#��5����������*��+<�&�
��+�+�� 
            j� , i�         =     $��$��
+�*.+��
�
��+����
 

            1�te , 1�tu     =     &�
(�	��error term 

           yt� , xt�       =     $��
$��*�$���	
�	����%#����
  

     1�te      =     1101 �� ���� tt ��  

 1�tu      =     1101 �� ���� tt ��  

           t1� , t2�      =     �$��$��
$��*�$���	
 

�

��0�
!������
���!*�	5 Error Correction Mechanism 
�*��
�� 
1. H0 01 �� :   "
�
�$��
��
&�
'(��
�
��+����
�

         H1 01 �� :   
�$��
��
&�
'(��
�
��+����
  

2. H0 02 �� :   "
�
�$��
��
&�
'(��
�
��+����
 

         H1 02 �� :   
�$��
��
&�
'(��
�
��+����
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 ���������
��	! ����!*�	5%���&5���6����!*�	5+	
��5�

���0�
.������
������#"*�
���� Xt %��� Yt "
�
�$��
��
&�
'(��
�
��+����
�%�����6����!*�	5#-���'�

���0�
.����
��
������#"*�����Xt�%���Yt�
�$��
��
&�
'(�
��+����
 

 

3.2.5��
 �!"��"��E�P
�#�
��IQ��RE��IQ�S
�,T7B%=07�AB59B6&'3�C09'8�
         Granger Causality Test �#3
��'����!*�	5$��
��
&�
'(�	����%#��
%55� ��	��
����
$���
	*���	����%#�.
4�����
�$��
��
����
���	'�5�+$��
��
���
���	'�5�+
&,�����
�	����%#�<�+�
!����	����!*�	5	+���
�
�+� �$�2!��������%
�$�*%����'�!*�	5
��
������#"*�*��
����

������
����%#�	+����2  ����$�	� x %���y �
������!���#3
��	
��	
���
�����
�������#���+
%#���	��x �#3
��
�.���	�����#���+
%#���	�� y %����x �=$��!�������*�4�
��	
�y 

���#��������x �#3
��
�.���.����*����#���+
%#���
� y ����	
"��	�#���������	����*�4�
#�����
%���=$�	�x $�������+�
���! �
�+�y 
��
�=$�	�
����*�	+�	��y  ��5$��!��6��

��	��  y  
��
�
$��!��6��

��	�� x  74��! �.
��!���#3
���%#�	����$��!����
����
���+�
���	'�5�+�	��
���
�*�	+	+���
�
�+� �$�2#�����!���	�� y "
�$�����+�
���! �
�+�  x ��.��6��=$�	�������  x  ���+
! �
�+�y �%�� y ����+! �
�+��x ��=
����
����%#�	��
	��.
4�����.��	
������!���#3
���.���.����*���
�#���+
%#��!����
��  x �%����y ���&���1�
��
�

���0�
�����( null hypothesis) (H0

tt

p

i
t

p

i
t xyy ��
 	�	�� �

�
�

�
1

1
1

1

) �=$�	�x "
�"*�
�#3
��
�.���	���y  *��
��
�
���!*�	5��! �����*�	+�	��
���*��
��$�	 

 

                                                         (2.17)                                 

tt

p

i
t yy �	�� �

�
1

1
                                                                          (2.18)                                

�
����( 2.17) ���+���������*�	+!��"
������	� ���*����
�
����( 2.18) ���+���������*�	+!�����
��	� ���* 

�.�        rRSS    =     6�5�����
��$���.��	���
!���.��	+�� �����	��( residual sum of squares) 

����
�������*�	+!�������	� ���*�(restricted regression) 

          urRSS  =  �6�5�����
��$���.��	���
!���.��	+�� �����	��( residual sum of 

squares) ����
�������*�	+!��"
������	� ���*�( unrestricted regression)

)*+!�������!*�	5(Test statistic) ���#3
����� F (F statistic) *��
�� 
                                             

)/(_( knRSS
RSSRSSF

ur

urr
knq �

�
��  
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������#9���' 0H  �=.
�+$��
��� x �#3
��
�.���	�����#���+
%#���	�  y �
! �
	�
�*�+���
��������	����!*�	5�

���0�
���� (Null hypothesis) ��� y "
�"*��#3
��
�.���	� x ��	�! �
���5�
���!*�	5	+����*�+���5������
 �&�+�%��������5�#���+
%55� ��	�������
���  x �
��#3
 y 

%�����  y �
��#3
� x  �!��
��
 *��
�� 
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p

i
t

p
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t yxx ��
 	�	�� �

�
�

�
1

1
1

1
                                                            (2.19)                                
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 	�� �

�
1

1
                                                                           (2.20)                                

 ���+��
��� (2.19) ��� ����*�	+!��"
������	� ���*  %���
��� (2.20) ��� ����*�	+!�����
��	� ���* %����������!*�	5	+����*�+���
$�	 ����� F  

)#�*���������� �
�
�	�  Lag 74��$�	 p �
�
����.���
���#3
������!��� �.
*�4�
�	�
)*+!���"#%������#3
���*�!����*!����! ����!*�	5  � $���	� p !��%��������
 2-3 $�� �&��	!����"*� 
%
������6���&'(!��"*�
�
��
"
�	�	
".�  "#��5$���	� p !�����	�
� ��*	�	
�	����!*�	5��
�.��
��
$�	��� ���%#���
 (Z) �#3
��
�.���	�����#���+
%#���	�  y %��	��
�$��
��
&�
'(��5  x ��'�
%��#:2.�
��$�	 ! �����*�	+)*+!��$�� lag �	� Z #���9	+��!��*��
���%#�	����*��+  (!��/��*�8 /��
5�2����(, 2547) 

 

�����" �I"
 �"U
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�
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����+��
���
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�$��#���<!���
$�
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	�������
�>?	�$�����
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��$�����7��	��+.���!��&+(��!'��	�
����!�
����#���!/�������$���.(
*�����������
����*�	+����7�	
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���#��
��$��!��������6����/4���&5����#:���+!��
�	�!'�6�
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���$�.���!��&+(%.��#���!/"!+�
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��$��.���!��&+(��
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��	� �"���!'���
�*��
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(�	����$()#�(�%��
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�$��
��
&�
'(�
�����5$�	$�����
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%55�	!�&���
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�����
� 50�.���!��&+(
�	����*.���!��&+(�)*+�����	
����+��#*�.(�����%����
!��� 11�
���$
� 2541��4���
!���29�'�
��$
�
2545���
!������
�260 ��#*�.(�74��6����/4���$����
���"*����	�#:���+!���/��0���
.<�$� �
�
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#:���+�"*�%������
�>?	�( INF) 	����*	��5��+���
�.���
����	�( MLR) *��
�6�6���<�$	����.���
�
(MPI) %��	����6��	5%!
�	����*.���!��&+(%.��#���!/"!+�( RM) 6����!*�	5+�
�!��
!&5�����	
��
�������
�������
%��	����*	��5��+������"*����
�� order of regression�����������	��
�4�
��	���*���%#�
��		���
!,�-��%���/4����
���
6��	5%!
!��$�*�����"*���5�&5���!����	�
%55� ��	��.�6��	5%!
�.
�	
��
���.���!��&+(�
����
� SET50����
�.2�
�	����6��	5%!

���
���
�#3
5���+����
.���!��&+(����
� RATC�!���.�6��	5%!
�#3
�5�%��!���� 2�%55�.�6�
���$���.(������
�
.���!��&+(� PTTE�)*+%55� ��	�� FLM��.�6��	5%!
���
���
�#3
�5����

%55� ��	��MVM��.�6��	5%!
�#3
5������#��
��$���*��+$��
����+���
%55� ��	�� FLM 

�.�$���R-square 0.367244�%���MVM��.�$���R-square 0.98603�74��$�	%55� ��	��MVM���
���
	'�5�+6�"*�
������	��	���� 
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!������
�&��	/4���
$��
��
&�
'(�����#3
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#���!/"!+���#3
"#�
���������7��	��+�!	���#&����
��#�	��$���	�#��*�5�����;����
�
���	+$	�� �"������.��@�@��&��	��
����	��.��	�#3
�	�� �
���
�!/��������;�
������!����
�+

7��	�
��#�	�!	�$ �%!���&��	�����!�
���	*��	����7��	!	�$ �"*�%����#3
��#%55���		
!��
�$��

#�	*<�+, 
���$�7��	��+!��#����/�.�!��5	+���%
���*�
%������
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��������$��

���$����.���5
6����	$�	��
��+�+�� , 
��<�&$��	�����
�$��
�#3
	��������6��	5%!
��	�.���!��&+(�
#���<!�	��
;�#:���+� �$�2!��
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5�!/*	����(�.��0��
��	����"!+��	�&4��&�����
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'(��.����*��
�����.
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��+�+���( cointegration) %��!*�	5
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��
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�( error correction 
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'(�����#3
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6��( Granger causality test) ��.�������
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